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[ PART A. Structure

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence.
Then mark the correct choice on your answer sheet.

1-  When a circuit becomes overloaded or shorted, the fuse wire, which is thinner and softer
than the main circuit wires, heats and melts, automatically -----—--eeeeeee- —thus
minimizing risks of fire and shock.

1) affects the circuit and cut off the electrical supply

2) the circuit affected and the electrical supply cut off

3) cutting off the electrical supply to the circuit affected
4) it cuts of the electrical supply which affects the circuit

P ---, is backed by thickly wooded areas to the north, but has an open view
across to the South Downs.
1) In the loveliest area of West Sussex. the site is surrounded by undulating country
2) The site, in the loveliest area of West Sussex is surrounded by undulating country
3) Being surrounded by undulating country in the loveliest area of West Sussex, the

site

4) Surrounded by undulating country, the site, in the loveliest area of West Sussex

3-  Because the Authority must concentrate its limited resources on the most urgent needs,

---------- -- cannot be expected to receive the high priority they receive from the

Company.
1) necessary improvements to maintain the very high standards in the Company's area
2) maintain the very high standards in the Company's area necessary improvements
3) maintaining the very high standards for necessary improvements, the Company's area
4) the very high standards to maintain are necessary improvements in the Company's area

4-  Frank Brown, who studies natural rhythms, found that oysters had a marked tidal
rhythm, opening their shells to feed at high tide and closing them --------—-—-— during
the ebb.

1) preventing damage and drying out
2) to prevent damage and drying out
3) prevents damage and dries out

4) thereby prevent damage and dry out
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10-

In 1472 Lorenzo revived the decayed university of Pisa by making it a branch of
Florence University, -—--—-eeseeeeee- anyway, and lacked sufficient lodging space.

1) after coming to the conclusion that Florence was too distracting for students

2) as well as concluding that the students distracted in Florence

3) then the students concluded they were distracted in Florence too

4) and concluding that Florence distracted the students either

- that up to now it has not proved possible to translate mechanically from
one language to another, with really satisfactory results.

1) So highly complex is language shows the fact

2) The fact that language is highly complex is shown

3) The fact of language being highly complex to show

4) That language is highly complex is shown by the fact

Probability theory is a field of mathematics unusually rich in paradoxes—truths that cut

so strongly against the grain of common sense ---------=--—--- to believe even after one is
confronted with their proofs.

1) that they are difficult 2) which it is difficult

3) which is difficult 4) it is difficult

Quietly, and without pain, he began to cry, and remembered how in his childhood he
had often wakened crying at night. But in spite of that he had been happy as a boy, and

now his early years seemed ---—-------—--- in sunlight or among green trees.

1) that he had lived of all 2) to all which he had lived

3) all to have been lived 4) of which he had lived all

The television was switched off at ten thirty, and the household was packed up for the
night, —-eeeereenaee at that hour—to say nothing of the heat—I would have been happy
to sit up reading, or making notes for my journal,

1) Unaccustomed as I am to sleeping 2) I am sleeping as unaccustomed as

3) To be as unaccustomed as to sleeping  4) As unaccustomed to sleep as I am

The ancient Greeks distinguished between metaphrase (literal translation) and paraphrase.
This distinction was adopted by English poet and translator John Dryden (1631-1700), who
described translation as the judicious blending of these two modes of phrasing when
selecting, in the target language, ~—-—---—------ in the source language.

1) used "counterparts," or equivalents, for the expressions

2) "counterparts,” or equivalents, for the expressions used

3) "counterparts,” or equivalents, the expressions used

4) the expressions used "counterparts,” or equivalents.

PART B. Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence.

Then mark the correct choice on your answer sheet.

12-

In the recruitment ceremony, the new soldiers swore -—------eeeeeew- fealty to their
commander. They vowed to give their life for him.

1) acidulous 2) adventitious 3) unwavering 4) surreptitious
That’s how the film critic Stanley Kauffman, for example, summarized the plot of the
famous horror movie Jaws (1975): "A Killer shark ——----—ceeeeeev the beach of an island
summer resort. Several people are Killed. Finally, the shark is Killed. That's the story.

1) depredated 2) inundated 3) supervened 4) accosted
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13- The Chief Minister played ----=-==-eeee=== role in the communal riots. Instead of
controlling the violence, he gave statements which incited the passions of the majority
community and encouraged them to express their anger through large-scale rioting,
arson and pillage.

1) a preemptive 2) an ignoble 3) an inchoate 4) a spurious

14- Inspecting the --=—-ssceeeeeeee, government officials checked to see if it was strong enough
to hold the swelling river.
1) levee 2) estuary 3) containerport 4) porthole

15- An independent Kingdom under Chinese ~-—-mmeeneeme- for most of the past millennium,
Korea was occupied by Japan in 1905 following the Russo-Japanese War.
1) penance 2) salvation 3) benison 4) suzerainty

16- It would be naive to urge or expect an aristocratic country to become a full-blooded
democracy in --—-—-ceeeeeee 3
1) celerity 2) vour book 3)atrice 4) name only

17-  The strength of the United Nations is dependent upon the --—---—- -- of its member
countries.
1) encounter 2) assumption 3) cooperation 4) urgency

18- The Principal of the school retired with an —-—-—cceceeeee service record. Not once in his
teaching career of 32 years had anyone pointed a single finger at him.
1) enigmatic 2) immaculate 3) inordinate 4) evanescent

19- People who wake up confused from a dream or a nightmare may -------—-- unintelligibly
for a few moments before anyone can understand them.
1) croon 2) warble 3) ramble 4) rave

20- He had a great reputation as an orator, and is characterized by Ennius as "the —-——-
of persuasiveness,"
1) epithet 2) quintessence 3) nomenclature 4) entourage

21- The first theory attributes a relatively constant population to periodic climatic
catastrophes that -=----eeceeceeee populations with such frequency as to prevent them from
exceeding some particular limit.

1) compromise 2) revert o 3) decimate 4) inveigh against

22-  Crowds of people were rushing the other way, towards the conflagration, to try to
the fire before it spread to the other wooden buildings by the river.

1) deploy 2) brook 3) recoil 4) stem

23- Seventeen prisoners held on death row are to be executed after their pleas for —-——eeee-
were turned down.

1) clemency 2) interjection 3) culpability 4) dismissal

24-  When the pools dry, the rotifers turn into minute particles of dust, wrinkled and -
awaiting the next rainfall.
1) lissome 2) desiccated 3) absorbent 4) garbled

25- In an instant Raffles had seized the clubs, and was whirling them about his gray head in
a mixture of childish pique and --—--——-eeeecc bravado which | should have thought him
altogether above.
1) bona lide 2) puerile 3) mettlesome 4) tremulous

26- His introduction contained such --——-—----—-— flattery that 1 began to wonder whether
anything else he said could be trusted.
1) fulsome 2) cuphemistic 3) inadvertent 4) gullible

27-  Part of the trouble came from a dislike of Sandys' refusal to heed professional advice,
and from his ———-——cemeeeeee allowing the senior civil servants in the Ministry of Defense to
usurp the powers that properly belonged to the Chiefs of Staff.
1) humility in 2) paucity of
3) propensity for 4) obsequiousness for
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28- The outrageous treatment of poor Tom had roused her still more; and she had followed

Legree to the house, with no particular intention, but to ------eeeseeeees him for his
brutality.
1) stereotype 2) enunciate 3) upbraid 4) desist

29-  From fifteen to seventeen she was in training for a heroine; she read all such works as
heroines must read to supply their memories with those quotations which are so
serviceable and so soothing in the —--—--——eeeeeeev of their eventful lives.

1) euphoria 2) equanimity 3) premonitions 4) vicissitudes

30- Giving in to his wanderlust, Damian quit his job at One Hour Photo to -----eeeeeue -
through Europe; he left his hometown for Paris with an open-return ticket and no hotel
reservations.

1) peregrinate 2) perorate 3) matriculate 4) defalcate

PART C. Cloze Passage

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) that best
fits each space. Then mark the correct choice on your answer sheet.

Fortunately, contextual precursors serve as dynamic contributors to motivation rather
than as determinants of it. (31) ====meeemmameea- motivation is that context shapes but does
not determine academic outcomes. Many studies support the conclusion that
achievement motivation is highly (32) ----=emeeemeem- and not fixed to underlying
conditions. (33) ---=-=-semseeee- . motivation is better understood as an alterable state
than a permanent trait: it is highly (34) ------emrmemenv to modification as conditions
vary. Students build motivational beliefs in relationship to a domain (e.g., math class,
biology, P.E.. language arts). then use these beliefs to orient themselves in new
learning.  Such  beliefs are  malleable even  though the  skills

(35) ~mmmmmmmmmeeem other domains (Fischer & Rose 1998: Fischer 1980).
Since motivation emerges as the individual responds to and prepares for the
environment, when the individual or the environment changes, (36) ---------=------ . This

ongoing dynamic highlights a key point for educators: Given (37) =----cseemecaee-
malleable. it should not be used as a category to sort or track students. Grouping the
so-called “unmotivated students™ together and (38) -----=-em-eeeemv them from the
supposedly motivated students is likely to exacerbate existing motivational
dispositions. A more student-centered approach would be to ascertain what motivates
individual students to achieve in a particular class and then (39) -----smemeemumm- the
students help in identifying other factors that might (40) -----seemeememm- their
motivation: such favorable factors may include changes to the context or changes to
the individual’s beliefs and behaviors.

31- 1) From research a finding repeated on 2) Researching has repeated a finding of

3) To repeat a research finding about 4) A repeated finding from research on
32- 1) pervasive 2) malleable 3) viable 4) compatible
33- 1) When stated simply 2) Simply stated

3) To be simply stated 4) Simply stating
34- 1) susceptible 2) akin 3) adverse 4) accessible
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35- 1) learned in a particular domain may not be transferrable to
2) in a particular domain learned may not be transferrable to
3) are learned in a particular domain may not be transferred
4) in a particular domain are learned, which may not be transferred

36- 1) motivation does so 2) and so motivation does
3) so too does motivation 4) so too motivation does
37- 1) to achievement motivation being 2) that achievement motivation is
3) achievement motivation to be 4) achievement motivation is
38- 1) emoting 2) disabusing 3) divesting 4) sequestering
39- 1)enlist 2) react to 3) usher in 4) spurn
40- 1) obscure 2) dampen 3) elevate 4) skirt

PART D. Reading Comprehension

Directions: Read the following three passages and answer the questions by choosing the best
choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

PASSAGE I:

[f the European Parliament were really interested in animal welfare. then it might look
rather more closely at the farming industry that the European Union so lavishly
rewards with subsidies. But it has more pressing business. On May 5th MEPs.
suddenly disgusted by the cruelty of people far away hunting seals, voted to endorse a
ban on the trade of seal products. most of which come from Canada. Their hypocritical
recommendation, which still has to be approved by the European Commission and
Council, isn’t even much good for the seals.

A ban on the seal hunt would spare individual seals, but it may not do much for the
seal population as a whole. When wildlife cannot be traded, it loses its value and thus
the incentive for people to conserve it. Today the hunters exploiting the seals have an
excellent reason to maintain a healthy and growing population. A trade ban would
mean that the management or maintenance of a wild population becomes just another
drain on resources. Sometimes ecotourism pays the bills. but it works only in places
that are easy for tourists to get to.

Why did the European Parliament overlook all this? Seal-murdering foreigners are
a soft target and animal-welfare groups have been lobbying MEPs for years. It may not
be a coincidence that they finally voted for a ban just a month before they face
elections. Having been invisible to their constituents for the past five years, what better
way for MEPs to save their own skins than to fight valiantly for those of baby seals?

41-  Which of the best title for the passage?

1) Seals: Really Endangered? 2) A Good Reason for a Ban
3) A Decision: Sincere or Political? 4) Best way to Save Seals
42- The word "suddenly" in paragraph 1 is used --=--eceeeeeuaes,
| ) sarcastically 2) hypocritically 3) apprehensively  4) sympathetically
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43-  Which of the following best describes the relationship of the second paragraph to MEPs
decision to endorse a ban on the trade of seal products, which is stated in the first
paragraph?

1) It calls the viability of the decision into question given the number of those who
object to such a move.

2) It argues that such a decision is going to be made so late as to be of much use.

3) It provides evidence to make the decision sound more warranted.

4) It casts serious doubt on the efficacy of such a decision.

PASSAGE 2:

Over the years, most people acquire a repertoire of skills for coping with a range of
frightening situations. They will attempt to placate a vexed teacher or boss and will
shout and run when chased by a mugger. Some individuals. though, become
overwhelmed in circumstances others would consider only minimally stressful: fear of
ridicule might cause them to shake uncontrollably when called on to speak in a group.
or terror of strangers might lead them to hide at home, unable to work or shop for
groceries. Why do certain people fall prey to excessive fear?

At the University of Wisconsin at Madison, my colleague Steven E. Shelton and 1
are addressing this problem by identifying specific brain processes that regulate fear
and its associated behaviors. Despite the availability of noninvasive imaging
techniques, such information is still extremely difficult to obtain in humans. Hence, we
have turned our attention to another primate. the rhesus monkey (Macaca mulatta).
These animals undergo many of the same physiological and psychological
developmental stages that humans do, but in a more compressed time span. As we gain
more insight into the nature and operation of neural circuits that modulate fear in
monkeys, it should be possible to pinpoint the brain processes that cause inordinate
anxiety in people and to devise new therapies to counteract it.

Effective interventions would be particularly beneficial if they were applied at an
early age. Growing evidence suggests overly fearful youngsters are at high risk for
later emotional distress. Jerome Kagan and his colleagues at Harvard University have
shown, for example, that a child who is profoundly shy at the age of two years is more
likely than a less inhibited child to suffer from anxiety and depression later in life.

This is not to say these ailments are ineluctable. But it is easy to see how excessive
fear could contribute to a lifetime of emotional struggle. Consider a child who is
deeply afraid of other children and is therefore taunted by them at school. That
youngster might begin to feel unlikable and. in turn, to withdraw further. With time the
growing child could become mired in a vicious circle leading to isolation, low self-
esteem, underachievement and the anxiety and depression noted by Kagan.

44-  Which of the following best describes the organization of the first two paragraphs?
1) A widely accepted definition is presented and qualified.
2) A complication is described and a possible way to handle it is presented.
3) A well-established conventional model is dismissed and an alternative introduced.
4) A problem is described and new evidence to further grasp its implications is
presented.
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45- What function does the question posed at the end of paragraph 1 serve?
1) It expresses surprise.
2) It accentuates the significance of a problem.
3) It paves the way for the discussion in the ensuing paragraph in the passage.
4) It is only a rhetorical question the answer to which is already known and posed only
to further support the content of the same paragraph.
46- Which of the following can be understood from Paragraph 2 about the rhesus monkeys?
1) They take the same time length as humans to experience the physiological and
psychological developmental stages associated with fear and its associated
behaviors.
2) They can be used to expose the nature and operation of neural circuits underlying
different types of human behavior left unknown as yet.
3) They can be used as human surrogates to probe the brain processes that regulate
fear and its associated behaviors in humans.
4) They have already taken some medication to help them surmount abnormal
excessive fear and anxiety.
47- The word "it" at the end of paragraph 2 refers to —-—meemeeeeen,
1) the nature and operation of neural circuits
2) atypical fear and its associated behaviors in humans
3) brain processes that trigger inordinate anxiety in primates
4) mental processes humans undergo before they manifest fear-like behavior
48- It can be concluded from the passage that overly fearful youngsters -—---meeeeemee,
1) are in a sense past praying for
2) are sure to have a distressful future
3) had better not have received therapeutic treatment earlier on in life
4) are more vulnerable to later emotional distress than their counterparts the same age
are
49- Which of the following best describes the function of the first sentence of the last
paragraph, "This is not to say these ailments are ineluctable,"?
1) To forestall an overgeneralization
2) To rectify a commonly held belief
3) To remove doubts
4) To instill hope
50- The passage provides sufficient information to answer which of the following questions?
1) Why is it that some individuals seem not to be able to contain their feeling of fear
and anxiety?
2) What are the ramifications of not managing the ailment of a person suffering from
excessive fear?
3) What makes it difficult to identify in humans the specific brain processes that
regulate fear and its associated behaviors?
4) Why are some people who manifest signs of excessive fear under certain conditions
not believed to be suffering from the ailment described in the passage?
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51- Why does the author mention Kagan in Paragraph 3?
1) To provide the latest scientific evidence found about the debilitating effect of
excessive fear
2) To corroborate a claim made in an earlier assertion
3) To qualify the previous information contained in the same paragraph
4) To provide a counter-example to make the reader contemplate the enormity of the
problem under discussion

52- The tone of the passage can best be described as -------=seeueeu,
1) alarmed and disparaging 2) critical and demanding
3) skeptical and questioning 4) scholarly and concerned
PASSAGE 3:

Looking beyond Earth. two planets show strong evidence for having had
environmental conditions suitable to originate life at some time in their history—Mars
and Europa. (For this purpose. we will consider Europa. a moon of Jupiter. to be a
planetary body.)

Mars today is not very hospitable. Daily average temperatures rarely rise much
above 220 Kelvins, some 353 Kkelvins below water’s freezing point. Despite this
drawback. abundant evidence suggests that liquid water has existed on Mars’s surface
in the past and probably is present within its crust today. Networks of dendritic valleys
on the oldest Martian surfaces look like those on Earth formed by running water. The
water may have come from atmospheric precipitation or “sapping.” released from a
crustal aquifer. Regardless of where it came from, liquid water undoubtedly played a
role. The valleys® dendritic structure indicates that they formed gradually, meaning
that water once may have flowed on Mars’s surface, although we do not observe such
signs today.

In addition. ancient impact craters larger than about 15 kilometers (nine miles) in
diameter have degraded heavily, showing no signs of ejecta blankets, the raised rims
or central peaks typically present on fresh craters. Some partly eroded craters display
gullies on their walls, which look water-carved. Craters smaller than about 15
kilometers have eroded away entirely. The simplest explanation holds that surface
water eroded the craters.

Although the history of Mars’s atmosphere is obscure, the atmosphere may have
been denser during the earliest epochs. 3.5 to 4.0 billion years ago. Correspondingly, a
denser atmosphere could have yielded a strong greenhouse effect. which would have
warmed the planet enough to permit liquid water to remain stable. Subsequent to 3.5
billion years ago, evidence tells us that the plant's crust did contain much water.
Evidently. catastrophic floods, bursting from below the planet’s surface. carved out
great flood channels. These floods occurred periodically over geologic time. Based on
this evidence. liquid water should exist several kilometers underground. where
geothermal heating would raise temperatures to the melting point of ice.

Mars also has had rich energy sources throughout time. Volcanism has supplied
heat from the earliest epochs to the recent past. as have impact events. Additional
energy to sustain life can come from the weathering of volcanic rocks. Oxidation of
iron within basalt. for example, releases energy that organisms can use.
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What is the best title for the passage?

1) Mars: Past and Present

2) Origin of Martian Water

3) Possibilities for Life on Mars

4) Mars: Always Inhospitable for Life

Which of the following best represents our state of knowledge about the possibility of the

existence of water on the present-day Mars?

1) Tentative acceptance

2) Limited denial

3) Studious criticism

4) Whole-hearted endorsement

The author refers to Mars's daily average temperatures falling below water’s freezing

POoint a8 —-mmmmmmmemeeee,

1) evidence that Mars once accommodated life

2) an adverse condition for water to exist on Mars

3) categorical proof for water to be imprisoned somewhere in Mars's crust

4) what prompted scientists to start thinking about the possibility of Mar being an
amenable place for life to originate

The word "it" in paragraph 2 refers (o --—--—--eemeeee,

1) precipitation 2) sapping 3) crustal aquifer  4) water
Which of the following has been defined in the passage?

1) gullies 2) sapping

3) dendritic valleys 4) ejecta blankets

According to the passage, our knowledge regarding the history of Mars’s atmosphere

1) is far from comprehensive and thorough

2) covers a time span between 3.5 to 4.0 billion years

3) has satisfied scholars that Mar must have contained water

4) is incomparable with what we knew about it just a couple of years ago

Why does the author mention "a strong greenhouse effect” in the fourth paragraph?

1) To prove that Mars's atmosphere used to be denser than it is now

2) To reject the claim that the history of Mar is long enough to have allowed life to
emerge

3) To argue for the possibility it created for liquid water to remain stable on Mars in
the past

4) To provide a response to the question about the origin of water now existing within
Mars's crust

Which of the following rhetorical functions dominates the fourth paragraph?

1) Process description 2) Function description

3) Formal definition 4) Partial Classification
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